12. AGREEMENT OF SUBJECT WITH VERB
A. Fill in the blanks with the suitable form of the verbs given in the brackets:
1. The crowd is going wild – the home team won the match!
2. A few of the books are still available online.
3.  Only a little cake is left over.
4. Either song is perfect for the dance.
5. Either Susmita or the council is wrong.
6. There are no candies left in the bag.
7. The captain, with the team, is walking into the stadium.
8. Everybody in our school likes him.
9. The little boy or his friends are knocking on the door.
10. My cousin and I are waiting to go outside.
B. Complete the sentences with the correct forms of the verbs in the box:
1. She speaks both English and Bengali.
2. You can either have milk or juice.
3. I can neither draw nor sing.
4. I would like to work with both land animals and aquatic animals.
5. This car is neither fast nor comfortable.
6. You can either go with him now or find your own way home.
7. She says they will win the next match.
8. Mr Jackson has got five cats, two dogs, a horse and a rabbit.
9. Hemant left for the station a while ago.
10. Rohan buys a carton of milk every day.
C. Identify the errors in these sentences and rewrite them in the correct manner:
1. The characters in Rick Riordan’s Percy Jackson series live in a world that combines the present day with Greek mythology.
2. The members of the volleyball team get their new uniform today.
3. Neither Edith’s parents nor her sister agrees with her decision to move away from home.
4. Both of these pairs of shoes need polishing.
5. Peppermint Patty and Lucy Van Pelt are characters from the comics.
6. Each of the cupcakes needs a layer of butter cream icing.
7. The school band plays the National Anthem every morning.
8. Measles is a disease that has been eradicated from Brazil.
9. Malgudi Days is one of my favourite books.
10. We take pride in our work.
     
Let Us Write:
Correct the errors in the passage given below and rewrite it:
In Europe, there are two types of Santa Clauses. The good, Saint Nicholas and the bad, Krampus are both integral parts of legend. Krampus punishes children who misbehave, unlike Saint Nicholas who rewards the good children. Saint Nicholas, as everybody knows, visits the houses of all the children in the world in one night. He gives them gifts. Krampus, on the other hand, gifts a lump of coal to all the children who have been bad through the year. In Europe, Saint Nicholas is supposed to visit children on 6 December, while Krampus visits the bad children on 5 December.
